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A: 42513; B: 25341

1234 second solution :(




A: ZNV; B: PFY

Draw a diagonal line in every

cell so that there’s a eq

ual

amount of differently directed

lines in each row/colum
Numbers outside reveal

n.
the

amount of formed angles of

each type in corresponding
rows/columns.
VAN V4
(A Z 1 2
10
2 1
D 0 1
<110 1
> 10 1 1
A: BFBF; B: BBFF
AV
[ C 2 1
1 2
0 1
3 2
10
D) 1 2
< 212111
>1 1202 2

C: FFBFBB; D: BFBBFF

Draw a single line going
through all the dots using only
horizontal/vertical/diagonal
lines. All distances between
two dots along the line should
be different.

A: 2001054; B: 3000000

Draw a single closed loop going
through the centers of all cells
using only horizontal/vertical
lines. Going clockwise along
the loop it should leave the
outlined areas only from the
cells with the circles. The fol-
lowing is also true: each time
the loop visits the cell with
the circle - it should immedi-
ately leave the outlined area.
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A: 4111234, B: 6210111
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C: 060340002; D: 001000005
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C: 512411102; D: 211111112




